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i1 [ 2 HERS 91;%%2} L] A i N
R L [X 4,012 28 3,788 3,870 7,658
g | T O X 4,620 23 5,235 5,459 10,694
R B X 8,371 59 8,897 9,299 18,196
A | R X 2,445 16 2,382 2,706 5,088
B OR M X 4,943 29 5,398 5,675 11,073
A | K HH X 8,093 42 8,458 9,240/ 17,698
BT R B 1 [X 4,835 18 5,413 5,764 11,177
b & X 2,163 5 2,321 2,477 4,798
& #t 39,482 220 41,892 44,490/ 86,382
L IR R R
o X 127 115 86 201
41 i HL X 112 123 82 205
7 i X 149 126 130 256
O X 65 55 47 102
B AR M X 80 82 54 136
A | K H H X 110 100 109 209
BT /R B i1 X 160 117 83 200
b ¥ M X bt 14 38 52
= it 847 732 629 1,361
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g | M T 8 T
5O X 4,139 3,903 3,956 7,859

A o o X 4,732 5,358 5,541 10,899
N g £/ X 8,520 9,023 9,429 18,452
jg:\ A X 2,510  2,437| 2,753 5,190
AR H X 5,023 5,480 5,729 11,209
N AR RS 8,203 8,558 9,349 17,907
Fe] 971 BE HH X 4,995 5,530 5,847 11,377
b = H X 2,207 2,335 2,515 4,850
= G 40,329 42,624 45,119 87,743
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FAFE AT 1 1 1 2 M1 T H 191 207 244 451 Ha T 365 384 418 802
F AT 14 14 18 32 PRI 2 T A 246 230 249 479 LR 610 712 775 1,487
R IEHT 17 18 17 35 A3 T H 218 224 248 472 GHE 1 T B 194 230 234 464
SUETHT 95 92 95 187 VB 6 kT T 161 131 191 322 G2 TH 128 146 147 293
ST 122 102 116 218 P4 T H 153 171 182 353 GHR 3 T H 364 378 4Lht 822
7 BT 27 20 34 54 BT HIK A 4,139 3,903| 3,956 7,859 GHR 4 T B 28 30 31 61
T 32 26 33 59 GHRE 1 T H 255 276 295 571
A e 5 5 2 7 W1 T H 132 136 161 297 GHRT 2 T B 75 94 98 192
f T 35 31 43 74 i 2 TH 219 209 242 451 GHEHEET 1 T H 182 175 174 349
K THT 12 10 12 22 M3 TH 202 291 293 584 GHEHEET 2 T H 54 53 57 110
ST 42 42 47 89 A2 HET 208 211 226 437 #I1TH 475 442 490 932
FEaRT 26 21 34 55 ey 305 333 341 674 w2 TH 61 67 73 140
AT 27 24 25 49 iR 1 TH 0 0 0 0 w4 TH 14 14 19 33
EEN) 66 62 71 133 B2 T H 336 513 496/ 1,009 GHRIG 1 T H 349 351 379 730
R VT 30 39 40 79 AVREL T T H 323 328 292 620 G 2 T B 343 342 367 709
I T 20 26 27 53 AMRJE 2 T H 253 316 324 640 {GHRIE 3 T H 243 256 242 498
Ky 40 51 60 111 VAR 3 T H 212 222 251 473 GHRIG 4 T A 289 291 348 639
b AT 28 27 25 52 AVAJE 4 T H 365 531 506/ 1,037 GHRIG 5 T H 188 196 192 388
AT 29 28 28 56 AMRJE S T H 245 272 297 569 GHRIE 6 T H 138 136 140 276
AT 24 22 30 52 T 132 144 151 295 i1 T H 329 440 418 858
AgEAT 24 19 28 47 AT 217 220 251 471 k2 TH 197 252 261 513
CRR) 18 14 14 28 ST 300 325 343 668 I (R 215 127 204 331
SEIERIT 16 18 16 34 INT 228 234 243 477 M3 TH 301 318 332 650
s ACHT 49 41 53 94 EE) 119 113 127 240 k4 TH 326 325 330 655
AT 36 36 41 77 iy 206 207 229 436 Wik 5 TH 0 0 0 0
Vi B B AT 33 25 41 66 #1TH 189 177 201 378 (HHl < 8,520 9,023 9,429 18,452
BE R AT 116 91 97 188 #r2 T A 121 136 122 258

i 5 2 3 3 6 TE1TH 51 56 59 115 b 74 88 96 184
SO AT 18 17 19 36 TE2TH 238 236 226 462 i1 T A 244 258 282 540
i AT 160 143 178 321 TE3TH 58 65 78 143 b2 TH 246 286 290 576
gy 132 113 131 244 SRIEHT 73 83 82 165 h 3 T H 35 38 40 78
ey 113 124 148 272 3 K F 4,732| 5,358/ 5,541 10,899 P4 T H 234 243 297 540
FAYE AT 298 303 214 517 h 5 T H 310 310 304 614
7 A o 123 77 115 192 BRI 499 500 553 1,053 w2 TH 20 20 21 41
LB A 3 5] 89 59 109 168 A 135 147 144 291 W3 TH 20 23 16 39
KRG 177 158 113 271 Wt 3 3 2 5 Il ST 594 555 641 1,196
W AT 240 202 38 240 471 TH 331 347 359 706 R O SR T 161 106 174 280
S ERT 1T 96 105 92 197 A2 TH 187 232 234 466 % [ BPAT 417 400 416 816
W EIT2 T H 258 248 245 493 &1 TH 442 466 513 979 VR A H B 155 110 176 286
W AT 3 T H 14 10 9 19 2 T H 425 478 318 796 o UK 2,510 2,437 2,753 5,190
Y5 i BT 0 0 0 0 3 TH 329 355 359 714

T 1T A 208 216 179 395 SGE1TH 108 101 120 221 $ AT 1,065 1,230 1,246 2,476
T2 T A 258 257 201 458 GR2TH 338 359 359 718 P BT 819 876 884 1,760
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My 4 LR 7 % = L} 4 L i % B Hr 7 = B
pd i 1,558 1,678 1,772 3,450
B i} 1,339 1,439 1,537 2,976
k51T H 234 250 283 533
G 6 T B (EHR) 8 7 7 14
AR b X 5,023 5,480 5,729 11,209
K H 3,532 3,755 4,022 7,777
K H#r 440 469 512 981
T 218 262 275 537
i 935 1,084 1,127 2,211
= 1,200 1,281 1,405 2,686
FLIN 58 70 72 142
byl pitil 546 364 527 891
MM 1TH 196 147 183 330
N2 7TH 326 340 347 687
N3 TH 85 66 66 132
M4 TH 216 246 277 523
N5 TH 392 417 464 881
Hne T H 59 57 72 129
ERE CKH) 0 0 0 0
K I HE X 3 8,203 8,558 9,349 17,907
FaTHREE 1,354 1,431 1,565 2,996
B[ i) 620 698 699 1,397
[Eapii) 348 375 409 784
acwa 160 182 204 386
fals 1,505 1,714 1,778 3,492
il 102 108 111 219
ERE 116 124 141 265
HifrE 227 271 284 555
FT7RFE 1 T H 373 393 425 818
4/ T 190 234 231 465
SR X 3 4,995 5,530 5,847| 11,377
ek 588 600 679 1,279
e 888 980 1,037 2,017
N 731 755 799 1,554
bl X E 2,207 2,335 2,515 4,850
Eikaris 40,329 42,624 45,119| 87,743




